2.

3

5.

Equations

. iron + sulfur — iron (I1) sulfide

Fe+ § — Fe3

zinc + cupric sulfate — zinc sulfate + copper

Zn+ LusOy —> Zndoy + (y

sﬂver nitrate + sodium bromide =¥ sodlum nltrate + silver bromide

AE?AﬂQ; + NaBr — /%iAﬂog r {%7AZ’

. potassium chlorate (heated) — potassium chloride + oxygen

KCiDs —= Kl + 0,

water (electricity) - hydrogen + oxygen

,IJUE() — Aé + Oy

. mercury (I) oxide (heated) — mercury + oxygen

HeO —> Ha + O,

. potassium iodide + lead (Il) nitrate — lead (Il) iodide + potassium nitrate

Kb + ﬁb[\/@g )L<-> PhI, + 'KNOg

. aluminum + oxygen — aluminum oxide

//“ & @z ‘—’?. «'4/7.03

. magnesium chloride + ammonium nitrate — magnesium nitrate + ammonium chioride’

MjUL t NHyNO3 — i\/)géﬂ%)zf NHy

10. iron (Ill) chloride + ammonium hydroxide —iron (lll) hydroxide + ammonium chloride

el +  NwoOH —>  Fe(od); + NHyCl

12. iron (l11) oxide + carbon — iron + carbor monoxide

Fe,0 + [ — R + O

13. iron + water — hydrogen + iron(lll) oxide

#ﬁiéﬁ) '%7_}42L‘f F%:zCLg

14. iron (Ill) chloride + potassium hydroxide — potassium chloride + iron (1) hydroxide.

15.

Fell; + KOW — KUl + Fe(oW)s

aluminum + sulfuric acid — aluminum sulfate + hydrogen

AL+ 504 —> Alboy)s +Hz
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Equations

Write a balanced chemical equation to represent each of the following chemical reactions:

1. iron + sulfur — iron (I1) sulfide

MR ESLEE = 8 ez b
P FET Oy ) - b‘fé‘ }
s 2 | | 2.) zinc + cupric sulfate — zinc sulfate + copper
=G L LNt —— N
- \ < Cu
i 4 e (,l, 0 ‘l(g? 7 Zn //’/g//! )
J ) 3 srlver nitrate + sodrum bromide — sodrum nitrate + srlver bromlde
=7+ T\t A i ol 4
g /-"/ {;\\,‘,f,{ A ,( Vs ay 4/ /)r < |

e (\n,n.\.‘) : = {4 potassrum chlorate (heated) tassrum chlorrde + oxygen
P L/ 2 " L/ /4‘;’ F. I
",'\; 5 1(, 28 i\r, Hag |t ~=~—1r49
Desinran) 5. water (electrrcrty) == hydrogéri + oxygen
e j Wi 'S = <) i
1y ok Vv 19 tC ,\'_, g )
T G 6. mercury (II) oxide (heated) — mercury + oxygen
y 9 a
% ,i./"}[/ 7 / e a< 1// ( ‘/ { (2
=] )
AW’ o T potassrum 10d/1de + lead (1) nitrate — lead (I1) iodide + potassium nitrate
N . N~ ~ ~
) N/ A /' s s \‘:\ A
K v FO(NOD ) ag Ze ¥ /,f’,». /4 /</"L 27
. 2 )
2ol - [i] 8) aluminum + oxygen — aluminum oxrdg
g R 8L ~
4 5 D [y o= apd] i
/-,/.fr'f l (’* :, L iy L T 2ot ¥> /,5
D.Y 9: magnesn m chloride + Ammomum nitrate — magnesium nitrate + ammonium chlondc
= \M_*/////-/ ) ey /// )
. i ] QU’/: Ei/ )/{ﬂ?‘/’ /2/;;,.:, ,\7,,,- i
N K 10. iron (nr) chlorrdc + ammonium hydm\ldc ~ ron Clll) h\/dl()‘(ld(, +ammonium Lhk{rrdc
~ r - T W
L ST & SRR
Q * I1. sodium peroxrdc + wa\ter == sodrum hydr‘o\ud(. + O\y,g,cn ‘4?/,- :
J . - ~ [l ! i ,“,i
OV, < g N e ad A T
la, W2yt HaOyy 7 4 NAO My C2y 2|
¢ ) = 12. iron (IH) oxrde +carbon — iron + carbon monoxide =
P e o %
— : - A . S 7, 2 LN
_—_ 5’{' /\,;,, P e a7 A FE LS \)/
® )
E i % li3e Jron + watcr e hydrog,en +iron (111) xrdu -
bt Ly e % ral 2 1] L= () e
A £ Ly 7 eyt T OS]

14. iron (111) cﬁlorrde + potassmm hydroxide 4-5"p()lzrssirlrrr chloridc + iron (11 hydroxidc

% Fo (3 KO 73K Clgy 1+ FeloH

SWK J( 15. aluminum + s ¢ acid — alummum sulfate + hydrog?cn
Narle 4 (continued)
ppog). 31,
s 9/

S




